MATH 2060 TuTOS

Example 1. Let f(z) = 25 on [a,b], where 0 < a < b. Let P = {[z;_1,2;]}/_, be a
partition of [a,b]. Find tags points t; € [z;_1,x;] explicitly in terms of x;_;, z; such that
the corresponding tagged partition P = {[z;_1, z;], ; }/-, satisfies
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Hence show that f € R]a, b andfbf—fb 1 dx_l(aiz_bL)
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8. Suppose that fis continuous on [a, b], that f(x) > O for all x € [a, b] and that fab f =0. Prove
that f(x) = 0 for all x € [a, b].

9. Show that the continuity hypothesis in the preceding exercise cannot be dropped.
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8. Suppose that fis continuous on [a, b], that f(x) > O for all x € [a, b] and that fab f =0. Prove
that f(x) = 0 for all x € [a, b].

9. Show that the continuity hypothesis in the preceding exercise cannot be dropped.
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Let a function f: [0, 5] — R be defined by
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cos’z, z€[0,Z]NQ
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0, else. S
Is this function Riemann integrable?
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16. If fis continuous on [a, b], a < b, show that there exists ¢ € [a, b] such that we have f: f=
f(c)(b — a). This result is sometimes called the Mean Value Theorem for Integrals.
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